LO: To use rounding to estimate the answer to sums. 
99 + 99 can be rounded to 100 + 100 = 200.  So I estimate 99 + 99 is approximately 200.
99 + 99 ≈ 100 + 100 = 200, so 99 + 99 ≈ 200
Estimate the answer to the following additions: 

1. 67 + 43 ≈ 





13. 99 + 49 ≈
2. 56 + 34 ≈





14. 99 + 199 ≈
3. 98 + 27 ≈





15. 99 + 149 ≈
4. 21 + 69 ≈





16. 49 + 49 ≈
5. 65 + 82 ≈





17. 101 + 99 ≈
6. 63 + 13 ≈





18. 101 + 201 ≈
7. 56 + 31 ≈





19. 101 + 149 ≈
8. 65 + 12 ≈





20. 149 + 149 ≈
9. 98 + 45 ≈





23. 201 + 201 ≈
10. 78 + 44
 ≈ 




24. 301 + 49 ≈
11. 87 + 22 ≈ 




25. 149 + 201 ≈
12. 88 + 39
 ≈ 




26. 167 + 99 ≈
Estimate the answer to the following subtractions: 

1. 67 - 43 ≈ 





13. 99 - 49 ≈
2. 56 – 34 ≈





14. 199 - 99≈
3. 98 – 27 ≈





15. 149 – 99 ≈
4. 69 - 21 ≈





16. 149 - 49 ≈
5. 82 - 65 ≈





17. 101 - 99 ≈
6. 63 - 13 ≈





18. 201 - 101 ≈
7. 56 - 31 ≈





19. 141 - 49 ≈
8. 65 - 12 ≈





20. 149 - 101 ≈
9. 98 - 45 ≈





23. 201 - 99 ≈
10. 78 - 44
 ≈ 




24. 301 - 49 ≈
11. 87 - 22 ≈ 




25. 249 - 201 ≈
12. 88 - 39
 ≈ 




26. 399 - 99 ≈
